Table 16.7: SUPPLY AND USE TABLE FOR MALDIVES 2003 - Aggregated by industry and Product (In million MVR)
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Manufacturing: other products 8 3 . 1,767.2 5 | .. g ® .
Construction products . .. . . . .. . X . . X X .. _
Resort, hotel and restaurant services . . X ! .. X .. . . 15 m—
Communication services . . . ! . . S N X g . .. . _
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Public Administration services X N . X ® . X . . . 5 _ 3.4 1,589.0 _
Health services } } . } 15| se| - - | 2515 2050 - - |

Intermediate Inputs (11) 29,835.4 X . . g . . . . 5 . . A . . X . 45.2 9,565.8 | 7,854.5 | 1,880.0 | 4,848.5 | 2,347.3 | 3,455.6

Compensation of employees (CE) . . . . .5 1,148.0
Taxes on products (T)

Net Operating Surplus (OS) 213.0 367.4 270.5 110.4 2204  1,760.8

GDP By Production = Sum of Gross Output (GO) - Sum of Intermediate Inputs (I1) + Sum of Import Duty for all Products (ID)

13,364 = 22,089 - 9,566 + 841
GDP by i \pp! h= hold Final C ion (C) + Gross Fixed Capital ion & y (1) + Final Ci ion (G) + [Exports(X) - Imports(M)]
13,364 = 4,848 + 3,339 + 2,347 + [9,735-6,905]
GDP by Income App! = [Taxes (T) - (S)] + C of Fixed Capital (D) + C of (CE)+0 )S) + Import Duty (ID)

13,364 = [759-1] + 1,832 + 3,725 + 6,207 + 841



